Algebra 1: Unit 7, lesson 2 Notes: Graphing Quadratic Functions: Standard Form Name: }\/M
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f(x)=ax*+bx+c

Where have you seen this function before?
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Any ideas of what “b” and “c” might do to change the graph?
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What findings do you see:
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Lets look miore at “¢”
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Thinking back to our Basketball Task what mischt “r” ha in thnca nrahlamc?

Basketball Task Day 2 Part 1 — see Task Handout and transparency graph paper 7
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Part 2: Explorlng the graphofa Quadratlc Function i in Standard form e
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Name:

ind al Ithepartsandgraph the gquadratic function-in standard form.
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Parts of a Quadratic Function:
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Exploring the equation of a quadratic function in standard form. = 0 il el et

Tim hits a softball. The function 4(x) = —141% + 561 + 3describes the height (in feet) of the softball, and tis tt
time (in seconds).

a) Draw a rough graph of what this graph might lock like. ﬂt'/y
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b) Does the graph have aor minimum? Wh\la/t is it? Explainin ':Lwe context of the problem.
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In the last problem how would have the function changed had Tim hit a line drive that the 2" baseman
caught?




